Dividing Whole Numbers by a Powers of Ten

Name: Class:

Solve the following problems.

18 + 100 = 200 + 10 =
18 =+ 10 = 200 + 1,000 =
18 + 1,000 = 200 + 100 =
150 =+ 10 = 66 + 1,000 = 87 + 100 =
150 + 100 = 66 + 100 = 87 + 1,000 =
150 + 1,000 = 66 + 10 = 87 + 10 =
300 = 10 = 500 + 1,000 = 800 + 100 =
300 =+ 100 = 500 + 100 = 800 + 1,000 =
300 + 1,000 = 500 =+ 10 = 800 =+ 10 =
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Answers

Solve the following problems.

18 + 100 = 0.18 200 + 10 = 20

18 =+ 10 = 1.8 200 + 1,000 = 0.2

18 + 1,000 = 0.018 200 = 100 = 2

150 =+ 10 = 15 66 + 1,000 = 0.066 87 + 100 = 0.87
150 =+ 100 = 1.5 66 + 100 = 0.66 87 + 1,000 = 0.087
150 + 1,000 = 0.15 66 + 10 = 6.6 87 + 10 = 8.7
300 + 10 = 30 500 + 1,000 = 0.5 800 + 100 = 8
300 = 100 = 3 500 + 100 =5 800 + 1,000 = 0.8
300 = 1,000 = 0.3 500 + 10 = 50 800 =+ 10 = 80
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